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gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go
D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m Om¶oJm&

4. Eogo àíZ O¡go {‘bmZ H$aZm, ghr AWdm JbV, [aº$ ñWmZ ^amo Am{X Ho$ CÎma, CÎma-nwpñVH$m ‘| {bIo|&

5. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ u {bI|&

6. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&
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DATA ENTRY OPERATIONS

S>mQ>m E§Q´>r Am°naoeÝg

( Theory )

( {gÕmÝV )

(336)

Time : 2 Hours ] [ Maximum Marks : 40

g‘¶ … 2 KÊQ>o ] [ nyUmªH$ … 40

Note  : (i) This question paper consists of 24 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Section—A consists of

(a) Question Nos. 1 to 8—Multiple-choice type questions (MCQs).
Question Nos. 1 to 7 carrying 1 mark each and Question No. 8
carrying 2 marks. Select and write the most appropriate option out
of the options given in each of these questions.

(b) Question Nos. 9 to 17—Objective-type questions. Question Nos. 9
and 10 carry 2 marks each (with 2 sub-parts of 1 mark each) and
Question Nos. 11 to 17 carrying 1 mark each. Attempt these
questions as per the instructions given for each of the questions
11 to 17. (Few questions are ‘Fill in the blanks’ type.)

(v) Section—B consists of

(a) Question Nos. 18 and 19—Very short answer-type questions
carrying 2 marks each to be answered in the range of 30 to 50
words.

(b) Question Nos. 20 to 23—Short answer-type questions carrying
3 marks each to be answered in the range of 50 to 80 words.

(c) Question No. 24—Long answer-type question carrying 4 marks to be
answered in the range of 80 to 120 words.

An internal choice has been provided in some of these questions. You
have to attempt only one of the given choices in such questions.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 24 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ CgHo$ gm‘Zo {XE JE h¡&
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SECTION—A

IÊS>–H$

1. Which of the following components of a chart specifies the values of the
data series plotted? 1

(A) Data labels (B) Tick mark

(C) Legends (D) Chart title

MmQ>© H$m BZ‘| go H$m¡Z-gm H$ånmoZ|Q> ßbm°Q> H$s JB© S>mQ>m grarO H$s d¡ë¶y Xem©Vm h¡?

(A) S>mQ>m bo~ëg (B) {Q>H$ ‘mH©$

(C) boO|oS²>g (D) MmQ>© Q>mBQ>b

(iv) IÊS>—H$
(a) àíZ g§»¶m 1 go 8 VH$ ~hþ-{dH$ënr¶ àíZ h¢& àíZ g§»¶m 1 go 7 VH$ ‘| àË¶oH$ àíZ

H$m 1 A§H$ h¡& àíZ g§»¶m 8 Ho$ {bE 2 A§H$ h¢& àË¶oH$ àíZ ‘| {XE JE {dH$ënm| ‘| go
g~go ghr {dH$ën H$mo MwZH$a {bI|&

(b) àíZ g§»¶m 9 go 17 VH$ dñVw{Zð> àíZ h¢& àíZ g§»¶m 9 Ed§ 10 ‘| go àË¶oH$ Ho$ 2 A§H$
h¢ (1 A§H$ dmbo 2 Cn-^mJm| g{hV)& àíZ g§»¶m 11 go 17 VH$ ‘| àË¶oH$ H$m 1 A§H$
h¡& {ZX}e AZwgma àíZm| Ho$ CÎma X|& (Hw$N> àíZ "[aº$ ñWmZm| H$mo ^[aE' àH$ma Ho$ h¢&)

(v) IÊS>—I
(a) àíZ g§»¶m 18 Ed§ 19 A{V bKw-CÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ Ho$ 2 A§H$ h¢&

àË¶oH$ àíZ H$m CÎma 30 go 50 eãXmo§ ‘| X|&
(b) àíZ g§»¶m 20 go 23 bKw-CÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ Ho$ 3 A§H$ h¢& àË¶oH$

àíZ H$m CÎma 50 go 80 eãXm| ‘| X|&
(c) àíZ g§»¶m 24 XrK©-CÎmar¶ àH$ma H$m àíZ h¡, BgHo$ 4 A§H$ h¢& BgH$m CÎma 80 go 120

eãXm| ‘| X|&

Hw$N> àíZm| ‘| Am§V[aH$ {dH$ën {X¶m J¶m h¡& {XE JE Am§V[aH$ {dH$ënm| ‘| go {H$gr EH$ H$mo
hb H$a|&

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& Xmonha 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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2. Which of the following functions helps to calculate sum of values in a
range based on certain given criteria? 1

(A) COUNTIF (B) SUMIF

(C) MAX (D) AVERAGE

BZ‘| go H$m¡Z-gm ’§$³eZ Xr JB© H§$S>reZ Ho$ AZwgma EH$ a|O H$s d¡ë¶yO H$m ¶moJ {ZH$mbVm h¡?

(A) COUNTIF (B) SUMIF

(C) MAX (D) AVERAGE

3. Which of the following is a valid mathematical operator? 1

(A) 4   (B) /@b

(C) 5  (D) /

BZ‘| go H$m¡Z-gm EH$ d¡Y J{UVr¶ Am°naoQ>a h¡?

(A) 4   (B) /@b

(C) 5  (D) /

4. Which of the following shortcut keys is used to select all the texts in a
document? 1

(A) Ctrl + F (B) Ctrl + T

(C) Ctrl + A (D) Ctrl + D

BZ‘| go {H$g em°Q>©H$Q> H$s Ûmam XñVmdoO H$m nyam Q>o³ñQ> EH$gmW {gbo³Q> {H$¶m OmVm h¡?

(A) Ctrl + F (B) Ctrl + T

(C) Ctrl + A (D) Ctrl + D

5. Which of the following tabs helps to change font type? 1

(A) Insert (B) Layout

(C) Design (D) Home

’$m°ÝQ> Q>mBn ~XbZo Ho$ {bE BZ‘| go {H$g Q>¡~ H$s ‘XX br OmVr h¡?

(A) BÝgQ>© (B) boAmCQ>

(C) {S>µOmBZ (D) hmo‘
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6. What is the value of the formula = (A1/B1) + (C1/D1), if the values of
A1 = 15, B1 = 5, C1 = 10 and D1 = 2? 1

(A) 7 (B) 8

(C) 9 (D) 6

’$m°‘y©bm = (A1/B1) + (C1/D1) H$s d¡ë¶y ³¶m hmoJr ¶{X A1 = 15, B1 = 5, C1 = 10 Am¡a
D1 = 2 h¡?

(A) 7 (B) 8

(C) 9 (D) 6

7. Which of the following is not a valid page size in Word? 1

(A) Letter (B) Legal

(C) A4 (D) Postcard

dS>© ‘| BZ‘| go H$m¡Z-gm EH$ d¡Y noO gmBµO Zht h¡?

(A) boQ>a (B) brJb

(C) A4 (D) nmoñQ>H$mS>©

8. In the questions given below, there are two statements marked as
Assertion (A) and Reason (R). Choose the correct answer for these
questions out of the choices given below in each question : 1×2=2

(i) Assertion (A) :

Using Bullet points for lists are preferred over long sentences.

Reason (R) :

Bullet points bring the information directly to the reader’s
attention and separate the lists in the usual length of text.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

(E) Both (A) and (R) are false



336/MAY/217A 7 [ P.T.O.

(ii) Assertion (A) :

Inserting page numbers is essential for lengthy documents.

Reason (R) :

Page numbers allow easy and effective navigation and referencing
within a document.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

(E) Both (A) and (R) are false

ZrMo {XE JE àíZm| ‘| Xmo H$WZ A{^H$WZ (A) Am¡a H$maU (R) Ho$ ê$n ‘| A§{H$V {H$E JE h¢& BZ
àíZm| Ho$ {bE ZrMo {XE JE {dH$ënm| ‘| go ghr {dH$ën MwZ| :

(i) A{^H$WZ (A) :

{bñQ> Ho$ {bE b§~o dm³¶m| Ho$ ~Xbo ~wboQ> nm°B§Q²>g ~ZmZm A{YH$ ng§X {H$¶m OmVm h¡&

H$maU (R) :

~wbooQ> nm°B§Q²>g go Cg gyMZm na nmR>H$ H$m Ü¶mZ ñdV… AmH${f©V hmo OmVm h¡ Am¡a ~wboQ>
nm°B§Q²>g go CVZm Q>o³ñQ> b§~o Q>o³ñQ> go AbJ ^r hmo OmVm h¡&

(A) (A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$m ghr dU©Z h¡

(B) (A) Am¡a (R) XmoZm| ghr h¡§ bo{H$Z (R), (A) H$m ghr dU©Z Zht h¡

(C) (A) ghr h¡ bo{H$Z (R) JbV h¡

(D) (A) JbV h¡ bo{H$Z (R) ghr h¡

(E) (A) Am¡a (R) XmoZm| JbV h¡§
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(ii) A{^H$WZ (A) :

b§~o XñVmdoOm| Ho$ {bE noO Z§~g© BÝgQ>© H$aZm Oê$ar hmoVm h¡&

H$maU (R) :

noO Z§~amo§ go XñVmdoO Ho$ ^rVa AmgmZr go Am¡a à^mdr T>§J go gyMZm VH$ nh±þMm Om
gH$Vm h¡&

(A) (A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$m ghr dU©Z h¡

(B) (A) Am¡a (R) XmoZm| ghr h¡§ bo{H$Z (R), (A) H$m ghr dU©Z Zht h¡

(C) (A) ghr h¡ bo{H$Z (R) JbV h¡

(D) (A) JbV h¡ bo{H$Z (R) ghr h¡

(E) (A) Am¡a (R) XmoZm| JbV h¡§

9. State True or False : 1×2=2

(a) Delete key erases the text to the right of the cursor position.

(b) Paper margins cannot be changed using ruler.

ghr ¶m JbV ~VmBE :

(H$) {S>brQ> H$s H$g©a nmoOreZ go amBQ> gmBS> H$s Amoa Q>o³ñQ> {S>brQ> H$aVr h¡&

(I) ê$ba H$s ghm¶Vm go noO ‘m{O©Z H$mo Zht ~Xbm Om gH$Vm h¡&

10. Fill in the blanks : 1×2=2

(a) Font _____ determines the emphasis or weight that the letters have
when they are displayed.

(b) _____ determines the height of each line in the paragraph.

[aº$ ñWmZm| H$mo ^[aE :

(H$) ’$m°ÝQ> _____ àX{e©V hmoZo dmbo Ajam| Ho$ ñdê$n (emphasis ¶m weight) H$mo {ZYm©[aV
H$aVr h¡&

(I) _____ àË¶oH$ n¡amJ«m’$ H$s bmBZm| H$s hmBQ> H$mo {ZYm©[aV H$aVr h¡&
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11. _____ shortcut key is used in place of Paste Command. 1

noñQ> H$‘m§S> Ho$ ñWmZ na _____ em°Q>©H$Q> H$s H$m à¶moJ hmoVm h¡&

12. _____ tab helps to insert a picture in an Excel worksheet. 1

_____ Q>¡~, Eo³gob dH©$erQ> ‘| {n³Ma BÝgQ>© H$aZo ‘| ‘XX H$aVm h¡&

13. In the Zoom dialog box, you can select _____ option to display multiple
pages of your document on the screen. 1

µOy‘ S>m¶bm°J ~m°³g ‘| Amn _____ {dH$ën H$mo MwZH$a AnZo XñVmdoO Ho$ ‘ëQ>rnb noOog H$mo ñH«$sZ
na {XIm gH$Vo h¢&

14. Which shortcut key is pressed to insert a page break? 1

noO ~«oH$ BÝgQ>© H$aZo Ho$ {bE {H$g em°Q>©H$Q> H$s H$mo X~m¶m OmVm h¡?

15. Which function key is pressed if you want to check the spelling and
grammar of the text in a document? 1

XñVmdoO ‘| Q>o³ñQ> H$s ñnoqbJ Am¡a J«m‘a MoH$ H$aZo Ho$ {bE {H$g ’§$³eZ H$s H$mo X~m¶m OmVm h¡?

16. Which area of the memory is used to hold the cut or copied items of text? 1

Q>o³ñQ> Ho$ H$Q> {H$E JE Am¡a H$m°nr {H$E JE AmBQ>åg H$mo aIZo Ho$ {bE ‘o‘moar Ho$ {H$g ^mJ H$m à¶moJ
hmoVm h¡?

17. Basic shapes button is found on the _____ toolbar. 1

_____ Qy>b~ma na ~o{gH$ eoßg H$m ~Q>Z nm¶m OmVm h¡&
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SECTION—B

IÊS>–I

18. (a) What is a computer? Name two input devices. 2

Or

(b) Define operating system. Give two examples of operating system.

(H$) H$åß¶yQ>a ³¶m h¡? Xmo BZnwQ> {S>dmBgm| Ho$ Zm‘ {b{IE&

AWdm

(I) Am°naoqQ>J {gñQ>‘ H$mo n[a^m{fV H$s{OE& Am°naoqQ>J {gñQ>‘ Ho$ Xmo CXmhaU Xr{OE&

19. Ravi prepared the topic ‘Output Devices’ for his class test. He got the
following 2 marks question in the test. Help him to answer this :

What is a plotter and how does it work? Name two types of plotter. 2

a{d Zo "AmCQ>nwQ> {S>dmBgoO' {df¶ na AnZo ³bmg Q>oñQ> Ho$ {bE V¡¶mar H$s& Cgo Q>oñQ> ‘| {ZåZ àíZ
{‘bm Omo 2 A§H$m| H$m Wm& Cgo CÎma XoZo ‘| ‘XX H$s{OE :

ßbm°Q>a ³¶m hmoVm h¡ Am¡a ¶h H¡$go H$m¶© H$aVm h¡? Xmo àH$ma Ho$ ßbm°Q>a Ho$ Zm‘ {b{IE&

20. Name the following : 3

(a) A software that reads high-level language program and translates it
into machine language program

(b) A low-level language which uses mnemonics

(c) A high-level language which is a popular object-oriented programming
language

Or

Name the following :

(a) Rules by which every computer language is bound

(b) Program generated by the compiler

(c) A language which is directly understood by the computer
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{ZåZ Ho$ Zm‘ {b{IE :

(H$) EH$ gm°âQ>do¶a Omo hmB©-bodb b¡§½doO àmoJ«m‘ H$mo n‹T>Vm h¡ Am¡a {’$a Cgo ‘erZ b¡§½doO àmoJ«m‘ ‘|
AZwdm{XV H$aVm h¡

(I) EH$ bmo-bodb b¢½doO Omo {Z‘mo{Z³g H$m à¶moJ H$aVr h¡

(J) EH$ hmB©-bodb b¢½doO Omo {H$ EH$ bmoH${à¶ Am°ãOo³Q>-Amo[aE§Q>oS> àmoJ«mq‘J ^mfm h¡

AWdm

{ZåZ Ho$ Zm‘ {b{IE :

(H$) àË¶oH$ H$åß¶yQ>a b¢½doO {OZ {Z¶‘m| Ûmam ~mÜ¶ hmoVr h¡

(I) H$ånmBba Ho$ Ûmam OZaoQ> {H$¶m J¶m àmoJ«m‘

(J) EH$ ^mfm Omo H$åß¶yQ>a Ûmam grYo g‘Pr Om gH$Vr h¡

21. Write three advantages of Mail Merge feature in Word. 3

dS>© ‘| ‘ob ‘O© ’$sMa Ho$ VrZ bm^ {b{IE&

22. What is Data Source? Write any two methods by which you can prepare
data source. 3

S>mQ>m gmog© ³¶m h¡? S>mQ>m gmog© V¡¶ma H$aZo Ho$ {H$Ýht Xmo VarH$mo| Ho$ ~mao ‘| {b{IE&

23. Answer/Name the following (any three) : 1×3=3

(a) Is this a valid e-mail ID?

workmail@gmail.com

(b) This protocol is used for sending Internet e-mail

(c) This is the address of a computer which is linked to the Internet

(d) It is an electronic document written in HTML computer language

(e) It is a protocol which is also known as the ‘glue’ of the Internet



{ZåZ Ho$ CÎma Xr{OE/Zm‘ {b{IE (H$moB© VrZ) :

(H$) ³¶m ¶h EH$ d¡Y B©-‘ob AmB0 S>r0 h¡?

workmail@gmail.com

(I) Bg àmoQ>moH$m°b H$m à¶moJ B§Q>aZoQ> B©-‘ob ^oOZo Ho$ {bE hmoVm h¡

(J) ¶h EH$ H$åß¶yQ>a H$m EoS´>og h¡ Omo B§Q>aZoQ> go qb³S> hmoVm h¡

(K) ¶h EH$ Bbo³Q´>m°{ZH$ XñVmdoO h¡ Omo HTML ^mfm ‘| {bIm J¶m hmoVm h¡

(L>) ¶h EH$ àmoQ>moH$m°b h¡ {Ogo B§Q>aZoQ> H$m "½by' ^r H$hm OmVm h¡

24. (a) What is a web server? What it is responsible for? Name any two web
server programs. 2

(b) Define web page. What can a web page contain? 2

(H$) do~ gd©a ³¶m hmoVm h¡? ¶h {H$gHo$ {bE {Oå‘oXma hmoVm h¡? {H$Ýht Xmo do~ gd©a àmoJ«m‘m| Ho$ Zm‘
{b{IE&

(I) do~ noO H$mo n[a^m{fV H$s{OE& do~ noO ‘| ³¶m aIm Om gH$Vm h¡?


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3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m Om¶oJm&

4. Eogo àíZ O¡go {‘bmZ H$aZm, ghr AWdm JbV, [aº$ ñWmZ ^amo Am{X Ho$ CÎma, CÎma-nwpñVH$m ‘| {bIo|&
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6. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&
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DATA ENTRY OPERATIONS

S>mQ>m E§Q´>r Am°naoeÝg

( Theory )

( {gÕmÝV )

(336)

Time : 2 Hours ] [ Maximum Marks : 40

g‘¶ … 2 KÊQ>o ] [ nyUmªH$ … 40

Note  : (i) This question paper consists of 24 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Section—A consists of

(a) Question Nos. 1 to 8—Multiple-choice type questions (MCQs).
Question Nos. 1 to 7 carrying 1 mark each and Question No. 8
carrying 2 marks. Select and write the most appropriate option out
of the options given in each of these questions.

(b) Question Nos. 9 to 17—Objective-type questions. Question Nos. 9
and 10 carry 2 marks each (with 2 sub-parts of 1 mark each) and
Question Nos. 11 to 17 carrying 1 mark each. Attempt these
questions as per the instructions given for each of the questions
11 to 17. (Few questions are ‘Fill in the blanks’ type.)

(v) Section—B consists of

(a) Question Nos. 18 and 19—Very short answer-type questions
carrying 2 marks each to be answered in the range of 30 to 50
words.

(b) Question Nos. 20 to 23—Short answer-type questions carrying
3 marks each to be answered in the range of 50 to 80 words.

(c) Question No. 24—Long answer-type question carrying 4 marks to be
answered in the range of 80 to 120 words.

An internal choice has been provided in some of these questions. You
have to attempt only one of the given choices in such questions.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 24 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ CgHo$ gm‘Zo {XE JE h¡&
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SECTION—A

IÊS>–H$

1. Which of the following tabs helps to change font type? 1

(A) Insert (B) Layout

(C) Design (D) Home

’$m°ÝQ> Q>mBn ~XbZo Ho$ {bE BZ‘| go {H$g Q>¡~ H$s ‘XX br OmVr h¡?

(A) BÝgQ>© (B) boAmCQ>

(C) {S>µOmBZ (D) hmo‘

(iv) IÊS>—H$
(a) àíZ g§»¶m 1 go 8 VH$ ~hþ-{dH$ënr¶ àíZ h¢& àíZ g§»¶m 1 go 7 VH$ ‘| àË¶oH$ àíZ

H$m 1 A§H$ h¡& àíZ g§»¶m 8 Ho$ {bE 2 A§H$ h¢& àË¶oH$ àíZ ‘| {XE JE {dH$ënm| ‘| go
g~go ghr {dH$ën H$mo MwZH$a {bI|&

(b) àíZ g§»¶m 9 go 17 VH$ dñVw{Zð> àíZ h¢& àíZ g§»¶m 9 Ed§ 10 ‘| go àË¶oH$ Ho$ 2 A§H$
h¢ (1 A§H$ dmbo 2 Cn-^mJm| g{hV)& àíZ g§»¶m 11 go 17 VH$ ‘| àË¶oH$ H$m 1 A§H$
h¡& {ZX}e AZwgma àíZm| Ho$ CÎma X|& (Hw$N> àíZ "[aº$ ñWmZm| H$mo ^[aE' àH$ma Ho$ h¢&)

(v) IÊS>—I
(a) àíZ g§»¶m 18 Ed§ 19 A{V bKw-CÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ Ho$ 2 A§H$ h¢&

àË¶oH$ àíZ H$m CÎma 30 go 50 eãXmo§ ‘| X|&
(b) àíZ g§»¶m 20 go 23 bKw-CÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ Ho$ 3 A§H$ h¢& àË¶oH$

àíZ H$m CÎma 50 go 80 eãXm| ‘| X|&
(c) àíZ g§»¶m 24 XrK©-CÎmar¶ àH$ma H$m àíZ h¡, BgHo$ 4 A§H$ h¢& BgH$m CÎma 80 go 120

eãXm| ‘| X|&

Hw$N> àíZm| ‘| Am§V[aH$ {dH$ën {X¶m J¶m h¡& {XE JE Am§V[aH$ {dH$ënm| ‘| go {H$gr EH$ H$mo
hb H$a|&

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& Xmonha 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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2. What is the value of the formula = (A1/B1) + (C1/D1), if the values of
A1 = 15, B1 = 5, C1 = 10 and D1 = 2? 1

(A) 7 (B) 8

(C) 9 (D) 6

’$m°‘y©bm = (A1/B1) + (C1/D1) H$s d¡ë¶y ³¶m hmoJr ¶{X A1 = 15, B1 = 5, C1 = 10 Am¡a
D1 = 2 h¡?

(A) 7 (B) 8

(C) 9 (D) 6

3. Which of the following is not a valid page size in Word? 1

(A) Letter (B) Legal

(C) A4 (D) Postcard

dS>© ‘| BZ‘| go H$m¡Z-gm EH$ d¡Y noO gmBµO Zht h¡?

(A) boQ>a (B) brJb

(C) A4 (D) nmoñQ>H$mS>©

4. Which of the following shortcut keys is used to select all the texts in a
document? 1

(A) Ctrl + F (B) Ctrl + T

(C) Ctrl + A (D) Ctrl + D

BZ‘| go {H$g em°Q>©H$Q> H$s Ûmam XñVmdoO H$m nyam Q>o³ñQ> EH$gmW {gbo³Q> {H$¶m OmVm h¡?

(A) Ctrl + F (B) Ctrl + T

(C) Ctrl + A (D) Ctrl + D

5. Which of the following is a valid mathematical operator? 1

(A) 4   (B) /@b

(C) 5  (D) /

BZ‘| go H$m¡Z-gm EH$ d¡Y J{UVr¶ Am°naoQ>a h¡?

(A) 4   (B) /@b

(C) 5  (D) /
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6. Which of the following functions helps to calculate sum of values in a
range based on certain given criteria? 1

(A) COUNTIF (B) SUMIF

(C) MAX (D) AVERAGE

BZ‘| go H$m¡Z-gm ’§$³eZ Xr JB© H§$S>reZ Ho$ AZwgma EH$ a|O H$s d¡ë¶yO H$m ¶moJ {ZH$mbVm h¡?

(A) COUNTIF (B) SUMIF

(C) MAX (D) AVERAGE

7. Which of the following components of a chart specifies the values of the
data series plotted? 1

(A) Data labels (B) Tick mark

(C) Legends (D) Chart title

MmQ>© H$m BZ‘| go H$m¡Z-gm H$ånmoZ|Q> ßbm°Q> H$s JB© S>mQ>m grarO H$s d¡ë¶y Xem©Vm h¡?

(A) S>mQ>m bo~ëg (B) {Q>H$ ‘mH©$

(C) boO|oS²>g (D) MmQ>© Q>mBQ>b

8. In the questions given below, there are two statements marked as
Assertion (A) and Reason (R). Choose the correct answer for these
questions out of the choices given below in each question : 1×2=2

(i) Assertion (A) :

Using Bullet points for lists are preferred over long sentences.

Reason (R) :

Bullet points bring the information directly to the reader’s
attention and separate the lists in the usual length of text.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

(E) Both (A) and (R) are false
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(ii) Assertion (A) :

Inserting page numbers is essential for lengthy documents.

Reason (R) :

Page numbers allow easy and effective navigation and referencing
within a document.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

(E) Both (A) and (R) are false

ZrMo {XE JE àíZm| ‘| Xmo H$WZ A{^H$WZ (A) Am¡a H$maU (R) Ho$ ê$n ‘| A§{H$V {H$E JE h¢& BZ
àíZm| Ho$ {bE ZrMo {XE JE {dH$ënm| ‘| go ghr {dH$ën MwZ| :

(i) A{^H$WZ (A) :

{bñQ> Ho$ {bE b§~o dm³¶m| Ho$ ~Xbo ~wboQ> nm°B§Q²>g ~ZmZm A{YH$ ng§X {H$¶m OmVm h¡&

H$maU (R) :

~wbooQ> nm°B§Q²>g go Cg gyMZm na nmR>H$ H$m Ü¶mZ ñdV… AmH${f©V hmo OmVm h¡ Am¡a ~wboQ>
nm°B§Q²>g go CVZm Q>o³ñQ> b§~o Q>o³ñQ> go AbJ ^r hmo OmVm h¡&

(A) (A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$m ghr dU©Z h¡

(B) (A) Am¡a (R) XmoZm| ghr h¡§ bo{H$Z (R), (A) H$m ghr dU©Z Zht h¡

(C) (A) ghr h¡ bo{H$Z (R) JbV h¡

(D) (A) JbV h¡ bo{H$Z (R) ghr h¡

(E) (A) Am¡a (R) XmoZm| JbV h¡§
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(ii) A{^H$WZ (A) :

b§~o XñVmdoOm| Ho$ {bE noO Z§~g© BÝgQ>© H$aZm Oê$ar hmoVm h¡&

H$maU (R) :

noO Z§~amo§ go XñVmdoO Ho$ ^rVa AmgmZr go Am¡a à^mdr T>§J go gyMZm VH$ nh±þMm Om
gH$Vm h¡&

(A) (A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$m ghr dU©Z h¡

(B) (A) Am¡a (R) XmoZm| ghr h¡§ bo{H$Z (R), (A) H$m ghr dU©Z Zht h¡

(C) (A) ghr h¡ bo{H$Z (R) JbV h¡

(D) (A) JbV h¡ bo{H$Z (R) ghr h¡

(E) (A) Am¡a (R) XmoZm| JbV h¡§

9. State True or False : 1×2=2

(a) Ctrl + X key combination is used for copying the text.

(b) For deleting selected text, Delete key is pressed.

ghr ¶m JbV ~VmBE :

(H$) Ctrl + X Ho$ g§¶moOZ H$m à¶moJ Q>o³ñQ> H$mo H$m°nr H$aZo Ho$ {bE hmoVm h¡&

(I) MwZo JE Q>o³ñQ> H$mo {S>brQ> H$aZo Ho$ {bE {S>brQ> H$s H$mo X~m¶m OmVm h¡&

10. Fill in the blanks : 1×2=2

(a) Position the insertion point at the line where the page should end and
press Ctrl + Enter keys to insert a _____.

(b)  button is used to create a _____ list.
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[aº$ ñWmZm| H$mo ^[aE :

(H$) BÝge©Z nm°B§Q> H$mo Cg bmBZ na aImo Ohm± noO H$mo IË‘ hmoZm Mm{hE Am¡a Ctrl + Enter H$s
H$mo X~mE± Vm{H$ EH$ _____ BÝgQ>© {H$¶m Om gHo$&

(I)  ~Q>Z H$m à¶moJ EH$ _____ {bñQ> ~ZmZo Ho$ {bE hmoVm h¡&

11. _____ shortcut key is used in place of Paste Command. 1

noñQ> H$‘m§S> Ho$ ñWmZ na _____ em°Q>©H$Q> H$s H$m à¶moJ hmoVm h¡&

12. If cell B1 contains an amount of R2,021·00 and cell B2 contains
R3,051·50, then the value of the formula = B1 + B2 will be _____. 1

¶{X gob B1 ‘| EH$ A‘mC§Q> 2,021·00 é0 {bIo JE h¢ Am¡a gob B2 ‘| 3,051·50 é0 {bIo
JE h¢ Vmo ’$m°‘y©bm = B1 + B2 H$s d¡ë¶y _____ hmoJr&

13. By default a line spacing is set at _____. 1

S>r’$m°ëQ> Ûmam EH$ bmBZ ñnoqgJ H$mo _____ na goQ> {H$¶m J¶m hmoVm h¡&

14. Which key combination makes the text alignment as justified? 1

{H$g H$s g§¶moOZ go Q>o³ñQ> H$mo OñQ>r’$mBS> VarHo$ go EobmBZ {H$¶m OmVm h¡?

15. Name the orientation option which is same as printing the page vertically
from top to bottom. 1

Cg Amo[aE§Q>oeZ {dH$ën H$m Zm‘ ~VmBE {Og‘| noO H$mo D$na go ZrMo H$s Amoa qàQ> {H$¶m OmVm h¡&

16. Which function is used to find the arithmetic mean value of given 20 values? 1

Xr JB© 20 d¡ë¶yO H$m E[aW‘¡{Q>H$ ‘rZ {ZH$mbZo Ho$ {bE {H$g ’§$³eZ H$m à¶moJ hmoVm h¡?

17. All arguments of a function are given within _____. 1

’§$³eZ Ho$ g^r Am½¶w©‘|Q²>g H$mo _____ Ho$ ~rM {bIm OmVm h¡&
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SECTION—B

IÊS>–I

18. Ravi prepared the topic ‘Output Devices’ for his class test. He got the
following 2 marks question in the test. Help him to answer this :

What is a plotter and how does it work? Name two types of plotter. 2

a{d Zo "AmCQ>nwQ> {S>dmBgoO' {df¶ na AnZo ³bmg Q>oñQ> Ho$ {bE V¡¶mar H$s& Cgo Q>oñQ> ‘| {ZåZ àíZ
{‘bm Omo 2 A§H$m| H$m Wm& Cgo CÎma XoZo ‘| ‘XX H$s{OE :

ßbm°Q>a ³¶m hmoVm h¡ Am¡a ¶h H¡$go H$m¶© H$aVm h¡? Xmo àH$ma Ho$ ßbm°Q>a Ho$ Zm‘ {b{IE&

19. (a) What is a computer? Name two input devices. 2

Or

(b) Define operating system. Give two examples of operating system.

(H$) H$åß¶yQ>a ³¶m h¡? Xmo BZnwQ> {S>dmBgm| Ho$ Zm‘ {b{IE&

AWdm

(I) Am°naoqQ>J {gñQ>‘ H$mo n[a^m{fV H$s{OE& Am°naoqQ>J {gñQ>‘ Ho$ Xmo CXmhaU XrpOE&

20. Write three advantages of Mail Merge feature in Word. 3

dS>© ‘| ‘ob ‘O© ’$sMa Ho$ VrZ bm^ {b{IE&

21. What is Data Source? Write any two methods by which you can prepare
data source. 3

S>mQ>m gmog© ³¶m h¡? S>mQ>m gmog© V¡¶ma H$aZo Ho$ {H$Ýht Xmo VarH$mo| Ho$ ~mao ‘| {b{IE&

22. Answer/Name the following (any three) : 1×3=3

(a) Is this a valid e-mail ID?

workmail@gmail.com

(b) This protocol is used for sending Internet e-mail
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(c) This is the address of a computer which is linked to the Internet

(d) It is an electronic document written in HTML computer language

(e) It is a protocol which is also known as the ‘glue’ of the Internet

{ZåZ Ho$ CÎma Xr{OE/Zm‘ {b{IE (H$moB© VrZ) :

(H$) ³¶m ¶h EH$ d¡Y B©-‘ob AmB0 S>r0 h¡?

workmail@gmail.com

(I) Bg àmoQ>moH$m°b H$m à¶moJ B§Q>aZoQ> B©-‘ob ^oOZo Ho$ {bE hmoVm h¡

(J) ¶h EH$ H$åß¶yQ>a H$m EoS´>og h¡ Omo B§Q>aZoQ> go qb³S> hmoVm h¡

(K) ¶h EH$ Bbo³Q´>m°{ZH$ XñVmdoO h¡ Omo HTML ^mfm ‘| {bIm J¶m hmoVm h¡

(L>) ¶h EH$ àmoQ>moH$m°b h¡ {Ogo B§Q>aZoQ> H$m "½by' ^r H$hm OmVm h¡

23. Name the following : 3

(a) A software that reads high-level language program and translates it
into machine language program

(b) A low-level language which uses mnemonics

(c) A high-level language which is a popular object-oriented programming
language

Or

Name the following :

(a) Rules by which every computer language is bound

(b) Program generated by the compiler

(c) A language which is directly understood by the computer



{ZåZ Ho$ Zm‘ {b{IE :

(H$) EH$ gm°âQ>do¶a Omo hmB©-bodb b¡§½doO àmoJ«m‘ H$mo n‹T>Vm h¡ Am¡a {’$a Cgo ‘erZ b¡§½doO àmoJ«m‘ ‘|
AZwdm{XV H$aVm h¡

(I) EH$ bmo-bodb b¢½doO Omo {Z‘mo{Z³g H$m à¶moJ H$aVr h¡

(J) EH$ hmB©-bodb b¢½doO Omo {H$ EH$ bmoH${à¶ Am°ãOo³Q>-Amo[aE§Q>oS> àmoJ«mq‘J ^mfm h¡

AWdm

{ZåZ Ho$ Zm‘ {b{IE :

(H$) àË¶oH$ H$åß¶yQ>a b¢½doO {OZ {Z¶‘m| Ûmam ~mÜ¶ hmoVr h¡

(I) H$ånmBba Ho$ Ûmam OZaoQ> {H$¶m J¶m àmoJ«m‘

(J) EH$ ^mfm Omo H$åß¶yQ>a Ûmam grYo g‘Pr Om gH$Vr h¡

24. (a) What is a web server? What it is responsible for? Name any two web
server programs. 2

(b) Define web page. What can a web page contain? 2

(H$) do~ gd©a ³¶m hmoVm h¡? ¶h {H$gHo$ {bE {Oå‘oXma hmoVm h¡? {H$Ýht Xmo do~ gd©a àmoJ«m‘m| Ho$ Zm‘
{b{IE&

(I) do~ noO H$mo n[a^m{fV H$s{OE& do~ noO ‘| ³¶m aIm Om gH$Vm h¡?


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DATA ENTRY OPERATIONS

S>mQ>m E§Q´>r Am°naoeÝg

( Theory )

( {gÕmÝV )

(336)

Time : 2 Hours ] [ Maximum Marks : 40

g‘¶ … 2 KÊQ>o ] [ nyUmªH$ … 40

Note  : (i) This question paper consists of 24 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Section—A consists of

(a) Question Nos. 1 to 8—Multiple-choice type questions (MCQs).
Question Nos. 1 to 7 carrying 1 mark each and Question No. 8
carrying 2 marks. Select and write the most appropriate option out
of the options given in each of these questions.

(b) Question Nos. 9 to 17—Objective-type questions. Question Nos. 9
and 10 carry 2 marks each (with 2 sub-parts of 1 mark each) and
Question Nos. 11 to 17 carrying 1 mark each. Attempt these
questions as per the instructions given for each of the questions
11 to 17. (Few questions are ‘Fill in the blanks’ type.)

(v) Section—B consists of

(a) Question Nos. 18 and 19—Very short answer-type questions
carrying 2 marks each to be answered in the range of 30 to 50
words.

(b) Question Nos. 20 to 23—Short answer-type questions carrying
3 marks each to be answered in the range of 50 to 80 words.

(c) Question No. 24—Long answer-type question carrying 4 marks to be
answered in the range of 80 to 120 words.

An internal choice has been provided in some of these questions. You
have to attempt only one of the given choices in such questions.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 24 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ CgHo$ gm‘Zo {XE JE h¡&
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SECTION—A

IÊS>–H$

1. Which of the following is not a valid page size in Word? 1

(A) Letter (B) Legal

(C) A4 (D) Postcard

dS>© ‘| BZ‘| go H$m¡Z-gm EH$ d¡Y noO gmBµO Zht h¡?

(A) boQ>a (B) brJb

(C) A4 (D) nmoñQ>H$mS>©

(iv) IÊS>—H$
(a) àíZ g§»¶m 1 go 8 VH$ ~hþ-{dH$ënr¶ àíZ h¢& àíZ g§»¶m 1 go 7 VH$ ‘| àË¶oH$ àíZ

H$m 1 A§H$ h¡& àíZ g§»¶m 8 Ho$ {bE 2 A§H$ h¢& àË¶oH$ àíZ ‘| {XE JE {dH$ënm| ‘| go
g~go ghr {dH$ën H$mo MwZH$a {bI|&

(b) àíZ g§»¶m 9 go 17 VH$ dñVw{Zð> àíZ h¢& àíZ g§»¶m 9 Ed§ 10 ‘| go àË¶oH$ Ho$ 2 A§H$
h¢ (1 A§H$ dmbo 2 Cn-^mJm| g{hV)& àíZ g§»¶m 11 go 17 VH$ ‘| àË¶oH$ H$m 1 A§H$
h¡& {ZX}e AZwgma àíZm| Ho$ CÎma X|& (Hw$N> àíZ "[aº$ ñWmZm| H$mo ^[aE' àH$ma Ho$ h¢&)

(v) IÊS>—I
(a) àíZ g§»¶m 18 Ed§ 19 A{V bKw-CÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ Ho$ 2 A§H$ h¢&

àË¶oH$ àíZ H$m CÎma 30 go 50 eãXmo§ ‘| X|&
(b) àíZ g§»¶m 20 go 23 bKw-CÎmar¶ àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ Ho$ 3 A§H$ h¢& àË¶oH$

àíZ H$m CÎma 50 go 80 eãXm| ‘| X|&
(c) àíZ g§»¶m 24 XrK©-CÎmar¶ àH$ma H$m àíZ h¡, BgHo$ 4 A§H$ h¢& BgH$m CÎma 80 go 120

eãXm| ‘| X|&

Hw$N> àíZm| ‘| Am§V[aH$ {dH$ën {X¶m J¶m h¡& {XE JE Am§V[aH$ {dH$ënm| ‘| go {H$gr EH$ H$mo
hb H$a|&

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& Xmonha 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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2. What is the value of the formula = (A1/B1) + (C1/D1), if the values of
A1 = 15, B1 = 5, C1 = 10 and D1 = 2? 1

(A) 7 (B) 8

(C) 9 (D) 6

’$m°‘y©bm = (A1/B1) + (C1/D1) H$s d¡ë¶y ³¶m hmoJr ¶{X A1 = 15, B1 = 5, C1 = 10 Am¡a
D1 = 2 h¡?

(A) 7 (B) 8

(C) 9 (D) 6

3. Which of the following tabs helps to change font type? 1

(A) Insert (B) Layout

(C) Design (D) Home

’$m°ÝQ> Q>mBn ~XbZo Ho$ {bE BZ‘| go {H$g Q>¡~ H$s ‘XX br OmVr h¡?

(A) BÝgQ>© (B) boAmCQ>

(C) {S>µOmBZ (D) hmo‘

4. Which of the following shortcut keys is used to select all the texts in a
document? 1

(A) Ctrl + F (B) Ctrl + T

(C) Ctrl + A (D) Ctrl + D

BZ‘| go {H$g em°Q>©H$Q> H$s Ûmam XñVmdoO H$m nyam Q>o³ñQ> EH$gmW {gbo³Q> {H$¶m OmVm h¡?

(A) Ctrl + F (B) Ctrl + T

(C) Ctrl + A (D) Ctrl + D

5. Which of the following is a valid mathematical operator? 1

(A) 4   (B) /@b

(C) 5  (D) /

BZ‘| go H$m¡Z-gm EH$ d¡Y J{UVr¶ Am°naoQ>a h¡?

(A) 4   (B) /@b

(C) 5  (D) /
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6. Which of the following components of a chart specifies the values of the
data series plotted? 1

(A) Data labels (B) Tick mark

(C) Legends (D) Chart title

MmQ>© H$m BZ‘| go H$m¡Z-gm H$ånmoZ|Q> ßbm°Q> H$s JB© S>mQ>m grarO H$s d¡ë¶y Xem©Vm h¡?

(A) S>mQ>m bo~ëg (B) {Q>H$ ‘mH©$

(C) boO|oS²>g (D) MmQ>© Q>mBQ>b

7. Which of the following functions helps to calculate sum of values in a
range based on certain given criteria? 1

(A) COUNTIF (B) SUMIF

(C) MAX (D) AVERAGE

BZ‘| go H$m¡Z-gm ’§$³eZ Xr JB© H§$S>reZ Ho$ AZwgma EH$ a|O H$s d¡ë¶yO H$m ¶moJ {ZH$mbVm h¡?

(A) COUNTIF (B) SUMIF

(C) MAX (D) AVERAGE

8. In the questions given below, there are two statements marked as
Assertion (A) and Reason (R). Choose the correct answer for these
questions out of the choices given below in each question : 1×2=2

(i) Assertion (A) :

Using Bullet points for lists are preferred over long sentences.

Reason (R) :

Bullet points brings the information directly to the reader’s
attention and separate the lists in the usual length of text.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

(E) Both (A) and (R) are false
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(ii) Assertion (A) :

Inserting page numbers is essential for lengthy documents.

Reason (R) :

Page numbers allow easy and effective navigation and referencing
within a document.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

(E) Both (A) and (R) are false

ZrMo {XE JE àíZm| ‘| Xmo H$WZ A{^H$WZ (A) Am¡a H$maU (R) Ho$ ê$n ‘| A§{H$V {H$E JE h¢& BZ
àíZm| Ho$ {bE ZrMo {XE JE {dH$ënm| ‘| go ghr {dH$ën MwZ| :

(i) A{^H$WZ (A) :

{bñQ> Ho$ {bE b§~o dm³¶m| Ho$ ~Xbo ~wboQ> nm°B§Q²>g ~ZmZm A{YH$ ng§X {H$¶m OmVm h¡&

H$maU (R) :

~wbooQ> nm°B§Q²>g go Cg gyMZm na nmR>H$ H$m Ü¶mZ ñdV… AmH${f©V hmo OmVm h¡ Am¡a ~wboQ>
nm°B§Q²>g go CVZm Q>o³ñQ> b§~o Q>o³ñQ> go AbJ ^r hmo OmVm h¡&

(A) (A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$m ghr dU©Z h¡

(B) (A) Am¡a (R) XmoZm| ghr h¡§ bo{H$Z (R), (A) H$m ghr dU©Z Zht h¡

(C) (A) ghr h¡ bo{H$Z (R) JbV h¡

(D) (A) JbV h¡ bo{H$Z (R) ghr h¡

(E) (A) Am¡a (R) XmoZm| JbV h¡§
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(ii) A{^H$WZ (A) :

b§~o XñVmdoOm| Ho$ {bE noO Z§~g© BÝgQ>© H$aZm Oê$ar hmoVm h¡&

H$maU (R) :

noO Z§~amo§ go XñVmdoO Ho$ ^rVa AmgmZr go Am¡a à^mdr T>§J go gyMZm VH$ nh±þMm Om
gH$Vm h¡&

(A) (A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$m ghr dU©Z h¡

(B) (A) Am¡a (R) XmoZm| ghr h¡§ bo{H$Z (R), (A) H$m ghr dU©Z Zht h¡

(C) (A) ghr h¡ bo{H$Z (R) JbV h¡

(D) (A) JbV h¡ bo{H$Z (R) ghr h¡

(E) (A) Am¡a (R) XmoZm| JbV h¡§

9. State True or False : 1×2=2

(a)  button is used to make numbered list.

(b) Ctrl + V key is used in place of Undo command.

ghr ¶m JbV ~VmBE :

(H$)  ~Q>Z H$m à¶moJ Z§~S>© {bñQ> ~ZmZo Ho$ {bE hmoVm h¡&

(I) Ctrl + V H$s H$mo AZSy> H$‘m§S> Ho$ ~Xbo à¶moJ {H$¶m OmVm h¡&

10. Fill in the blanks : 1×2=2

(a) _____ sub-menu under Home tab is used to add border and shading.

(b) Left, Right, Center and Decimal are types of _____ which can be set
as per our requirements.
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[aº$ ñWmZm| H$mo ^[aE :

(H$) hmo‘ Q>¡~ Ho$ A§VJ©V _____ g~-‘oÝ¶y H$m à¶moJ ~m°S>©a Am¡a eoqS>J EoS> H$aZo Ho$ {bE hmoVm h¡&

(I) boâQ>, amBQ>, g|Q>a Am¡a S>ogr‘b _____ Ho$ àH$ma h¢ {OÝh| AnZr Amdí¶H$Vm Ho$ AZwgma goQ>
{H$¶m OmVm h¡&

11. _____ is the basic type face in which the letters are displayed. 1

_____ ~o{gH$ Q>mBn ’o$g h¡ {Og‘| Aja àX{e©V hmoVo h¢&

12. Each _____ of a worksheet has unique reference or address. 1

dH©$erQ> Ho$ àË¶oH$ _____ H$m AnZm Img ao’$a|g ¶m EoS´>og hmoVm h¡&

13. The paper _____ available for printing purpose can be chosen from options
like Legal, Letter or A4. 1

qàqQ>J Ho$ CÔoí¶ go CnbãY nona _____ H$mo brJb, boQ>a ¶m A4 {dH$ënm| ‘| go MwZm Om gH$Vm h¡&

14. Name the features of Word which are used to make columns of text and
are set at 0 5  intervals from the left margin. 1

dS>© Ho$ CZ ’$sMg© H$m Zm‘ {b{IE Omo Q>o³ñQ> Ho$ H$m°b‘ ~ZmZo Ho$ {bE à¶moJ hmoVo h¢ Am¡a {OÝh| ~mBª
‘m{O©Z go 0 5  Ho$ B§Q>adb na goQ> {H$¶m OmVm h¡&

15. Name the keys that erases the text to the left and right of the cursor. 1

CZ H$sO Ho$ Zm‘ {b{IE Omo H$g©a Ho$ ~mBª Am¡a XmBª Amoa Ho$ Q>o³ñQ> H$mo {S>brQ> H$aVr h¢&

16. Which area of the memory is used to hold the cut or copied items of text? 1

Q>o³ñQ> Ho$ H$Q> {H$E JE Am¡a H$m°nr {H$E JE AmBQ>åg H$mo aIZo Ho$ {bE ‘o‘moar Ho$ {H$g ^mJ H$m à¶moJ
hmoVm h¡?

17. A _____ is a grid of columns which are designated by letters; and rows
which are designated by numbers. 1

_____ EH$ {J«S> hmoVr h¡ Omo H$m°b‘ ({OÝh| Ajam| go {XIm¶m OmVm h¡) Am¡a amo ({OÝh| Z§~am| go {XIm¶m
OmVm h¡) H$mo {‘bmH$a ~ZVr h¡&
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SECTION—B

IÊS>–I

18. (a) What is a computer? Name two input devices. 2

Or

(b) Define operating system. Give two examples of operating system.

(H$) H$åß¶yQ>a ³¶m h¡? Xmo BZnwQ> {S>dmBgm| Ho$ Zm‘ {b{IE&

AWdm

(I) Am°naoqQ>J {gñQ>‘ H$mo n[a^m{fV H$s{OE& Am°naoqQ>J {gñQ>‘ Ho$ Xmo CXmhaU XrpOE&

19. Ravi prepared the topic ‘Output Devices’ for his class test. He got the
following 2 marks question in the test. Help him to answer this :

What is a plotter and how does it work? Name two types of plotter. 2

a{d Zo "AmCQ>nwQ> {S>dmBgoO' {df¶ na AnZo ³bmg Q>oñQ> Ho$ {bE V¡¶mar H$s& Cgo Q>oñQ> ‘| {ZåZ àíZ
{‘bm Omo 2 A§H$m| H$m Wm& Cgo CÎma XoZo ‘| ‘XX H$s{OE :

ßbm°Q>a ³¶m hmoVm h¡ Am¡a ¶h H¡$go H$m¶© H$aVm h¡? Xmo àH$ma Ho$ ßbm°Q>a Ho$ Zm‘ {b{IE&

20. What is Data Source? Write any two methods by which you can prepare
data source. 3

S>mQ>m gmog© ³¶m h¡? S>mQ>m gmog© V¡¶ma H$aZo Ho$ {H$Ýht Xmo VarH$mo| Ho$ ~mao ‘| {b{IE&

21. Answer/Name the following (any three) : 1×3=3

(a) Is this a valid e-mail ID?

workmail@gmail.com

(b) This protocol is used for sending Internet e-mail

(c) This is the address of a computer which is linked to the Internet

(d) It is an electronic document written in HTML computer language

(e) It is a protocol which is also known as the ‘glue’ of the Internet
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{ZåZ Ho$ CÎma Xr{OE/Zm‘ {b{IE (H$moB© VrZ) :

(H$) ³¶m ¶h EH$ d¡Y B©-‘ob AmB0 S>r0 h¡?

workmail@gmail.com

(I) Bg àmoQ>moH$m°b H$m à¶moJ B§Q>aZoQ> B©-‘ob ^oOZo Ho$ {bE hmoVm h¡

(J) ¶h EH$ H$åß¶yQ>a H$m EoS´>og h¡ Omo B§Q>aZoQ> go qb³S> hmoVm h¡

(K) ¶h EH$ Bbo³Q´>m°{ZH$ XñVmdoO h¡ Omo HTML ^mfm ‘| {bIm J¶m hmoVm h¡

(L>) ¶h EH$ àmoQ>moH$m°b h¡ {Ogo B§Q>aZoQ> H$m "½by' ^r H$hm OmVm h¡

22. Write three advantages of Mail Merge feature in Word. 3

dS>© ‘| ‘ob ‘O© ’$sMa Ho$ VrZ bm^ {b{IE&

23. Name the following : 3

(a) A software that reads high-level language program and translates it
into machine language program

(b) A low-level language which uses mnemonics

(c) A high-level language which is a popular object-oriented programming
language

Or

Name the following :

(a) Rules by which every computer language is bound

(b) Program generated by the compiler

(c) A language which is directly understood by the computer



{ZåZ Ho$ Zm‘ {b{IE :

(H$) EH$ gm°âQ>do¶a Omo hmB©-bodb b¡§½doO àmoJ«m‘ H$mo n‹T>Vm h¡ Am¡a {’$a Cgo ‘erZ b¡§½doO àmoJ«m‘ ‘|
AZwdm{XV H$aVm h¡

(I) EH$ bmo-bodb b¢½doO Omo {Z‘mo{Z³g H$m à¶moJ H$aVr h¡

(J) EH$ hmB©-bodb b¢½doO Omo {H$ EH$ bmoH${à¶ Am°ãOo³Q>-Amo[aE§Q>oS> àmoJ«mq‘J ^mfm h¡

AWdm

{ZåZ Ho$ Zm‘ {b{IE :

(H$) àË¶oH$ H$åß¶yQ>a b¢½doO {OZ {Z¶‘m| Ûmam ~mÜ¶ hmoVr h¡

(I) H$ånmBba Ho$ Ûmam OZaoQ> {H$¶m J¶m àmoJ«m‘

(J) EH$ ^mfm Omo H$åß¶yQ>a Ûmam grYo g‘Pr Om gH$Vr h¡

24. (a) What is a web server? What it is responsible for? Name any two web
server programs. 2

(b) Define web page. What can a web page contain? 2

(H$) do~ gd©a ³¶m hmoVm h¡? ¶h {H$gHo$ {bE {Oå‘oXma hmoVm h¡? {H$Ýht Xmo do~ gd©a àmoJ«m‘m| Ho$ Zm‘
{b{IE&

(I) do~ noO H$mo n[a^m{fV H$s{OE& do~ noO ‘| ³¶m aIm Om gH$Vm h¡?


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